Practice Problems — Adding Vectors A. Perrone
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Work Magnitude Direction
1. A+C (Bj)+(4i+1f)=ai+7] v{a®+7) =81 tan™ (7/4) = 60.3° north of east
2. 2G-H 2(3i-3j)-(-2])=6i-4]j V(62 +-4%)=7.2 tan™ (4/6) = 33.7° south of east

3. B+D

4. F+0G

5 1+2H

6. E+D+3C

7. 1+D

9. C-F+D

10. 2C-D+H

11. H-H+A

12, 1+2D-2C



1. A+C

Add the vectors geometrically. Label the direction (angle) of the resultant vector.

2. 2G-H

.“J o

the resultant

ED.3“ (north of east)

notice the directional angle is not inside the triangle made

of the vectors; it could be but doesn't need to be

A

E
3.7° (south of east)

the resultant

2G

it's not necessary to include the yellow shaded portion or

the compass rose; they're included for teaching purposes

3. B+D

4, F+0G




5. 1+2H 6. E+D+3C

7. 1+D 8. B-G3




9. C-F+D

10. 2C-D+H

11. H-H+A

12.1+2D-2C




